
Asst. Paper-II –LDCE Online (RE EXAM) 
 

1 ‘Exempted Employee’ means an employee ______________. 
 
(a) who is not entitled to the benefits provided under the ESI 

Act. 
(b) who is not liable to pay the employee’s contribution under 

the ESI Act. ANS 
(c) in respect of whom there is exemption of payment of 

employee’s contribution and employer’s contribution. 
(d) in respect of whom there is exemption of payment of 

employer’s contribution. 
  

1 NwV izkIr deZpkjh dk vk”k; ,sls deZpkjh ls gS----- 

 

(a) tks bZ,lvkbZ vf/kfu;e ds v/khu miyC/k ykHkksa dk gdnkj ugha gSA 

(b) ftls bZ,lvkbZ vf/kfu;e ds v/khu deZpkjh va”knku nsus dh t:jr 

ugha gSA 

(c) ftlds laca/k esa deZpkjh va”knku vkSj fu;ksDrk va”knku nsus ls NwV 

izkIr gSA 

(d) ftlds laca/k esa fu;ksDrk va”knku nsus ls NwV izkIr gSA 

                                                            

2 Who is the ex-officio member of ESI Corporation? 
 
(a) Union Labour Minister 
(b) State Labour Minister 
(c) Union Labour Secretary 
(d) Director General, ESIC ANS 
 

2 bZ,lvkbZ fuxe dk insu lnL; dkSu gS\ 

 

(a) dsUnzh; Je ea=h 

(b) jkT; Je ea=h 

(c) dsUnzh; Je lfpo 

(d) egkfuns”kd] bZ,lvkbZlh 

 

3 The number of Member of Parliament that are there in ESI 
Corporation as members is _________. 
 
(a) one 
(b) two 
(c) three ANS 
(d) four          
 

3 bZ,lvkbZ fuxe ds lnL;ksa ds :i esa laln lnL;ksa dh la[;k----------------

---gS 

 

(a) ,d 

(b) nks 

(c) rhu 

(d) pkj 

 

4 The term of office of members of the persons representing 
Union Territories as members of ESI Corporation is ______. 
 
(a) during the pleasure of the Government appointing them. 

ANS 
(b) one year 
(c) two years 
(d) four years       
 

4 bZ,lvkbZ fuxe esa la?k jkT; {ks=ksa dk izfrfuf/kRo djus okys lnL;ksa dk 

dk;Zdky--------------gksrk gS 

 

(a) mls fu;qDr djus okyh ljdkj ds pkgus rd 

(b) ,d o’kZ 

(c) nks o’kZ 

(d) pkj o’kZ 

 

5 The term of office of a member of the Standing Committee 
representing medical profession is __________. 
 
(a) two years ANS 
(b) three years 
(c) four years 
(d) during the pleasure of the Central Government. 
 

5 LFkk;h lfefr ds ,d lnL; ds :i esa fpfdRlk O;olk; dk izfrfuf/kRo 

djus okys lnL; dk dk;Zdky --------------------gS 

 

(a) nks o’kZ 

(b) rhu o’kZ 

(c) pkj o’kZ 

(d) dsUnzh; ljdkj ds pkgus rd 

 

6 Who among the following is the Chairman of Medical Benefit 
Council? 
 
(a) Director General, Health Services 
(b) Director General, ESI Corporation ANS 
(c) Medical Commissioner, ESI Corporation 
(d) Secretary, Ministry of Health & Family Welfare, 

Government of India. 

6 fuEu esa ls dkSu fpfdRlk ykHk ifj’kn dk v/;{k gS\ 

 

(a) egkfuns”kd] LokLF; lsok,a 

(b) egkfuns”kd] bZ,lvkbZ fuxe 

(c) fpfdRlk vk;qDr] bZ,lvkbZ fuxe 

(d) lfpo] LokLF; vkSj ifjokj dY;k.k ea=ky;] Hkkjr ljdkj          

7 The member of the ESI Corporation may resign his office by 
notice in writing to the ______________. 
 
(a) Chairman of the Corporation 
(b) Central Government ANS 
(c) Director General, ESIC 
(d) Vice Chairman of the Corporation 
 

7 bZ,lvkbZ fuxe dk lnL;----------------dks fyf[kr uksfVl Hkstdj vius 

in ls R;kxi= ns ldrk gS 

 

(a) fuxe dk v/;{k 

(b) dsUnzh; ljdkj 

(c) egkfuns”kd] bZ,lvkbZlh 

(d) fuxe ds mik/;{k 

 

8 Regional Boards are appointed by the ____________. 
 
(a) Union Government 
(b) State Government 
(c) Corporation ANS 
(d) Director General, ESIC 
 

8 {ks=h; cksMksZa dh fu;qfDr fuEu }kjk dh tkrh gS 

 

(a) dsUnzh; ljdkj 

(b) jkT; ljdkj 

(c) fuxe 

(d) egkfuns”kd] bZ,lvkbZlh 

 



 
9 The list of the occupational diseases is mentioned in the 

_________ of the ESI Act. 
 
(a) First Schedule 
(b) Second Schedule Part I 
(c) Second Schedule Part II 
(d) Third Schedule ANS 
 

9 O;kolkf;d jksxksa dh lwph bZ,lvkbZ vf/kfu;e dh---------------------esa 

mfYyf[kr gS 

 

(a) igyh vuqlwph 

(b) nwljh vuqlwph Hkkx I 
(c) nwljh vuqlwph Hkkx II 
(d) rhljh vuqlwph 

 

10 There is a provision of waiting period of ____ days in Sickness 
Benefit. 
 
(a) 2 ANS 
(b) 5 
(c) 7 
(d) 10       
 

10 #X.krk ykHk esa---------------------------fnu rd izrh{kk djus dk izko/kku 

gS 

 

(a) 2 

(b) 5 

(c) 7 

(d) 10                                                    

 

11 If any person fails to pay contribution which under this Act he is 
liable to pay, he shall be punishable with imprisonment for a 
term upto _________ year(s). 
 
(a) one 
(b) two 
(c) three ANS 
(d) four          
 

11 ;fn dksbZ O;fDr bl vf/kfu;e ds v/khu mlds }kjk ns; va”knku dk 

Hkqxrku djus esa vleFkZ jgrk gS rks mls-----------------o’kZ rd dh dSn 

dk naM fn;k tk ldrk gS 

 

(a) ,d 

(b) nks 

(c) rhu 

(d) pkj 

 

12 Form No. ESI CP-16 is __________. 
 
(a) Order of attachment of immovable property 
(b) Order to attach salary and allowances 
(c) Notice to Surety 
(d) Warrant of sale of property ANS 
 

12 bZ,lvkbZlhih&16 QkeZ----------------------gS 

 

(a) vpy laifRr dh dqdhZ dk vkns”k 

(b) osru vkSj HkRrs dqdZ djus dk vkns”k 

(c) tekurh dks uksfVl 

(d) laifRr dh fcØh dk okjaV  

 

13 An appeal against the decision of the Medical Board or Medical 
Appeal Tribunal may be preferred to the Employees’ Insurance 
Court within _____ from the date of communication of the said 
decision. 
 
(a) one month 
(b) two months 
(c) three months ANS 
(d) four months          
 

13 fpfdRlk cksMZ vFkok fpfdRlk vihy vf/kdj.k ds fu.kZ; ds fo#) deZpkjh 

}kjk chek U;k;ky; dks mDr fu.kZ; lwfpr djus okys i= dh rkjh[k ls----

--------ds Hkhrj vihy dh tk ldrh gS 

 

(a) ,d eghuk 

(b) nks eghus 

(c) rhu eghus 

(d) pkj eghus 

 

14 If a person has become an employee within the meaning of the 
ESI Act for the first time on 01/03/2012, his benefit period will 
commence from _________ 
 
(a) 01/01/2013 
(b) 01/07/2012 
(c) 01/06/2012 
(d) 01/12/2012 ANS 
 

14 ;fn dksbZ O;fDr bZ,lvkbZ vf/kfu;e ds vFkksZa esa 1-3-2012 dks deZpkjh 

cu x;k gS] mldh ykHk vof/k----------------ls “kq: gksxhA 

 

(a) 01/01/2013 
(b) 01/07/2012 
(c) 01/06/2012 
(d) 01/12/2012                                                        
 

15 Who can be the Member Secretary of the Regional Board other 
than the Regional Director? 
 
(a) State Medical Commissioner of the State 
(b) Minister for Labour of the State 
(c) Officer-in-charge ANS 
(d) None of the above  
 

15 {ks=h; cksMZ dk {ks=h; funs”kd ds vykok dkSu lnL; lfpo gks ldrk gS\ 

 

(a) jkT; dk jkT; fpfdRlk vk;qDr 

(b) jkT; dk Je ea=h 

(c) izHkkjh vf/kdkjh 

(d) mi;qZDr esa ls dksbZ ugha 

 

16 The representatives of the employee in the Regional Board 
may resign from Regional Board by submitting his resignation 
to __________. 
 
(a) Chairman of the Regional Board 
(b) Chairman of the Corporation ANS 
(c) Chairman of the Standing Committee 
(d) Member Secretary of the Regional Board 
 

16 {ks=h; cksMZ esa deZpkfj;ksa ds izfrfuf/k---------------dks viuk R;kxi= nsdj 

{ks=h; cksMZ ls bLrhQk ns ldrs gSa 

 

(a) v/;{k] {ks=h; cksMZ 

(b) fuxe ds v/;{k 

(c) LFkk;h lfefr ds v/;{k 

(d) {ks=h; cksMZ dk lnL; lfpo 

 



 
17 Who can restore the membership of a member of Local 

Committee? 
 
(a) Chairman, Local Committee 
(b) Chairman, Regional Board ANS 
(c) Regional Director 
(d) State Government  
 

17 LFkk;h lfefr ds lnL; dh lnL;rk dkSu cgky dj ldrk gS\ 

 

(a) v/;{k] LFkk;h lfefr 

(b) v/;{k] {ks=h; cksMZ 

(c) {ks=h; funs”kd 

(d) jkT; ljdkj 

 

18 Family Declaration Forms are to be submitted to the 
appropriate office within _____ days of the furnishing of 
particulars therein. 
 
(a) 20 
(b) 14 
(c) 10 ANS 
(d) 7  
 

18 ifjokj ?kks’k.kk QkeZ] muesa fooj.k izLrqr djus ds-------------------fnuksa ds 

Hkhrj leqfpr vf/kdkjh dks izLrqr fd, tkus pkfg, 

 

(a) 20 

(b) 14 

(c) 10 

(d) 7                                                     

 

19 The main purpose of the Identity Card issued by ESIC to the 
insured person is ________. 
 
(a) to allow the insured person to enter the offices / 

dispensaries / hospitals of ESIC. 
(b) To avail medical and cash benefits. ANS 
(c) To use it as identity card for various purposes. 
(d) To remain on rolls of a factory/establishment. 
 

19 bZ,lvkbZlh }kjk chekd`r O;fDr dks tkjh fd, x, igpku&i= dk ewy 

iz;kstu------------- gS 

 

(a) chekd`r O;fDr dks bZ,lvkbZlh ds dk;kZy;ksa@fpfdRlky;ksa@vLirkyksa 

 esa izos”k djus dh vuqefr nsuk 

(b) fpfdRlk vkSj udn ykHk izkIr djuk 

(c) fofHkUu iz;kstuksa ds fy, igpku ds :i esa iz;ksx djuk 

(d) dkj[kkus@LFkkiuk ds gkftjh jftLVj esa cus jgukA 

                                                           

20 In case the Identity Card is lost, the insured person should 
report the matter to the ___________ for issue of duplicate 
Identity card. 
 
(a) employer 
(b) Regional Office 
(c) Appropriate dispensary 
(d) Appropriate Branch Office ANS 
 

20 ;fn igpku&i= xqe gks tkrk gS rks chekd`r O;fDr dks nwljk igpku dkMZ 

tkjh djkus ds fy, ekeys dks--------------dks lwfpr djuk pkfg, 

 

(a) fu;ksDrk 

(b) {ks=h; dk;kZy; 

(c) leqfpr fpfdRlky; 

(d) leqfpr “kk[kk dk;kZy; 

 

21 After the termination of the contribution period, the return of 
contribution should be submitted within ____ days. 
 
(a) 7 
(b) 21 
(c) 42 ANS 
(d) 45      
 

21 va”knku vof/k ds lekIr gks tkus ij] va”knku dh fooj.kh--------------

fnuksa ds Hkhrj izLrqr dh tkuh pkfg, 

 

(a) 7 

(b) 21 

(c) 42 

(d) 45                                                    

 

22 If a factory is permanently closed on 31-01-2012, the 
contribution that falls due on 31-01-2012 should have been 
paid by ________. 
 
(a) 31-1-2012 ANS 
(b) 07-2-2012 
(c) 14-2-2012 
(d) 21-2-2012    
 

22 ;fn dksbZ dkj[kkuk 31-3-2012 dks LFkk;h :i ls can dj fn;k tkrk gS] 

31-3-2012 dks ns; gksus okys va”knku dk Hkqxrku----------------rd dj 

fn;k tkuk pkfg, Fkk 

 

(a) 31-1-2012 
(b) 07-2-2012 
(c) 14-2-2012 
(d) 21-2-2012                                                                

23 The rate of damages that can be levied on the amount of 
contribution due but not paid under the Act that can be 
recovered from an employer for the period of delay of 2 months 
and above but less than 4 months is _____. 
 
(a) 5% 
(b) 12% 
(c) 10% ANS 
(d) 15%    
 

23 vf/kfu;e ds v/khu ns; fdarq vnk ugha fd, x, va”knku dh jkf”k ds laca/k 

esa nks eghus ls vf/kd fdarq 4 eghus ls de dh vof/k dh nsjh ds fy, 

deZpkjh ls olwys tkus okys gtkZus dh nj-------------gS 

 

(a) 5% 
(b) 12% 
(c) 10% 
(d) 15%                                                 

 

24 The Register of Employees is maintained in _______. 
 
(a) Form 5A 
(b) Form 6 ANS 
(c) Form 7 
(d) Form 8   
 

24 deZpkfj;ksa dk jftLVj-------------------esa j[kk tkrk gS 

 

(a) QkeZ 5A 
(b) QkeZ 6 
(c) QkeZ 7 
(d) QkeZ 8                                                

 



25 The claim for sickness benefit falls due _____________. 
 
(a) On the day the insured person approaches the 

dispensary/hospital for treatment. 
(b) On the date of issue of medical certificate. ANS 
(c) From the date the insured person remains absent from 

duty due to sickness. 
(d) Any of the above.  
 

25 #X.krk ykHk dk nkok-----------------dks nkrO; cu tkrk gS 

 

(a) ftl rkjh[k dks chekd`r O;fDr mipkj ds fy, 

 fpfdRlky;@vLirky esa tkrk gS 

(b) MkDVjh izek.k&i= tkjh fd, tkus dh rkjh[k 

(c) ftl rkjh[k ls chekd`r O;fDr chekjh ds dkj.k M~;wVh ls vuqifLFkr 

 jgrk gS 

(d) buesa ls dksbZ ugha 

 

26 The claim for maternity benefit in case of miscarriage falls due 
on 
 
(a) The date of issue of the medical certificate of such 

miscarriage or sickness. ANS 
(b) On the day the insured person approaches the 

dispensary/hospital for treatment. 
(c) From the date the insured person remains absent from 

duty due to sickness. 
(d) Any of the above.   
 

26 xHkZikr ds ekeys esa izlwfr ykHk dk nkok fuEu rkjh[k dks nkrO; gks tkrk gS 

 

(a) bl rjg ds xHkZikr vFkok #X.krk ds laca/k esa MkDVjh izek.k&i= 

 tkjh fd, tkus dh rkjh[k 

(b) ftl rkjh[k dks chekd`r O;fDr mipkj ds fy, 

 fpfdRlky;@vLirky esa tkrk gS 

(c) ftl rkjh[k ls chekd`r O;fDr chekjh ds dkj.k M~;wVh ls vuqifLFkr 

 jgrk gS 

(d) mi;qZDr esa ls dksbZ HkhA 

 

27 The authority which is to certify the eligibility of claimants in 
respect of sickness benefit is the appropriate 
_________________. 
 
(a) Dispensary 
(b) Hospital 
(c) Branch Office ANS 
(d) Regional Office  
 

27 #X.krk ykHk ds nkosnkjksa dh ik=rk izekf.kr djus okyk vf/kdkjh leqfpr---

----------gS 

 

(a) fpfdRlky; 

(b) vLirky 

(c) “kk[kk dk;kZy; 

(d) {ks=h; dk;kZy; 

 

28 Sickness Benefit is payable not later than _____ days after the 
claim complete in all respect is furnished to the appropriate 
office. 
 
(a) 5 
(b) 7 ANS 
(c) 11 
(d) 15  
 

28 #X.krk ykHk leqfpr vf/kdkjh dks lHkh n`f’V;ksa ls iw.kZ nkok izLrqr fd, 

tkus ds vf/kd ls vf/kd------------------fnuksa esa ns; gks tkrk gS 

 

(a) 5 

(b) 7 

(c) 11 

(d) 15                                                    

 

29 In the case of the first payment in respect of Permanent 
Disablement Benefit, it is payable not later than _____ after the 
claim complete in all respect is furnished to the appropriate 
office. 
 
(a) 15 days 
(b) 21 days 
(c) 28 days 
(d) One month ANS 
 

29 LFkk;h vaxgkfu ykHk ds laca/k esa igyk Hkqxrku leqfpr dk;kZy; dks lHkh 

n`f’V;ksa ls iw.kZ nkok izLrqr fd, tkus ds vf/kd ls vf/kd-------------fnuksa 

esa ns; gks tkrk gS 

 

(a) 15 fnu 

(b) 21 fnu 

(c) 28 fnu 

(d) ,d eghuk 

 

30 Medical Certificates are issued in __________. 
 
(a) Form 6 
(b) Form 7 ANS 
(c) Form 8 
(d) Form 9  
 

30 MkDVjh izek.k&i=------------------------esa tkjh fd, tkrs gSa 

 

(a) QkeZ 6 

(b) QkeZ 7 

(c) QkeZ 8 

(d) QkeZ 9                                                 

31 To claim disablement benefit for temporary disablement, a 
person has to submit the medical certificate within _____ days 
of the issue of such certificate. 
 
(a) 2 
(b) 3 ANS 
(c) 4 
(d) 6   
 

31 vLFkk;h vaxgkfu ds fy, vaxgkfu dk nkok djus ds okLrs O;fDr dks ,slk 

izek.k&i= tkjh fd, tkus ds-------------------fnuksa ds Hkhrj MkDVjh 

izek.k&i= izLrqr djuk gksrk gS 

 

(a) 2 

(b) 3 

(c) 4 

(d) 6                                                     

 

32 The retention period of the accident book is _____ years. 
 
(a) 3 
(b) 4 
(c) 5 ANS 
(d) 6   
 

32 nq?kZVuk iqfLrdk dh izfr/kkj.k vof/k---------------o’kZ gS 

(a) 3 

(b) 4 

(c) 5 

(d) 6                                                    

 



 
33 Medical Appeal Tribunals are constituted by _________. 

 
(a) ESI Corporation 
(b) Central Government 
(c) State Government ANS 
(d) Medical Benefit Council      
 

33 fpfdRlk vihy vf/kdkfj;ksa dk xBu-----------------}kjk fd;k tkrk gS 
 

(a) bZ,lvkbZ fuxe 

(b) dsUnzh; ljdkj 

(c) jkT; ljdkj 

(d) fpfdRlk ykHk ifj’kn 

 

34 Particulars of family members entitled for medical benefit are 
recorded in _________. 
 
(a) Form 3 
(b) Form 4 
(c) Form 4A ANS 
(d) Form 5    
 

34 fpfdRlk ykHk ds gdnkj ifjokj ds lnL;ksa ds fooj.k-----------------------

eas fjdkMZ fd, tkrs gSa 

 

(a) QkeZ 3 
(b) QkeZ 4 
(c) QkeZ 4A 
(d) QkeZ 5                                                

 

35 Accident Book is maintained in ______________. 
 
(a) Form 8 
(b) Form 9 
(c) Form 10 
(d) Form 11 ANS 
 

35 nq?kZVuk iqfLrdk----------------esa j[kh tkrh gS 

 

(a) QkeZ 8 

(b) QkeZ 9 

(c) QkeZ 10 

(d) QkeZ 11                                                

 

36 Form 14 is claim form for _________. 
 
(a) Dependant’s Benefit 
(b) Periodical payments of Dependant’s Benefit 
(c) Permanent Disablement Benefit ANS 
(d) None of the above    
 

36 QkeZ 14-----------------ds fy, nkok QkeZ gS 
 

(a) vkfJr dk ykHk 

(b) vkfJr ds ykHk dk fu;rdkfyd Hkqxrku 

(c) LFkk;h vaxgkfu ykHk 

(d) mi;qZDr esa ls dksbZ ugha  

 

37 Form 17 is ___________. 
 
(a) Certificate of Pregnancy ANS 
(b) Certificate of expected confinement / confinement / 

miscarriage / maternity benefit. 
(c) Claim for maternity benefit 
(d) Claim for maternity benefit after the death of an insured 

women leaving behind the child. 
  

37 QkeZ 17------------------------gS 

 

(a) lxHkZrk dk izek.k&i= 

(b) izR;kf”kr izlo@izlo@xHkZikr@izlwfr ykHk dk izek.k&i= 

(c) izlwfr ykHk ds fy, nkok 

(d) cPps dks tUe nsus ds ckn chekd`r efgyk dh e`R;q ds i”pkr izlwfr 

ykHk ds fy, nkokA 

                                                           

38 __________ is for claiming Funeral Expenses. 
 
(a) Form 21 
(b) Form 22 ANS 
(c) Form 23 
(d) Form 24  
 

38 ---------------------vUR;sf’V [kpsZ ds nkos ds fy, gS 

 

(a) QkeZ 21 

(b) QkeZ 22 

(c) QkeZ 23 

(d) QkeZ 24                                               

 

39 The term of office of Vice Chairman of ESI Corporation is ___. 
 
(a) During the pleasure of the Government appointing them. ANS 
(b) one year 
(c) two years 
(d) four years   
 

39 bZ,lvkbZ fuxe ds mik/;{k dk dk;Zdky-------------------gS 

 

(a) mls fu;qDr djus okyh ljdkj ds pkgus ds nkSjku 

(b) ,d o’kZ 

(c) nks o’kZ 

(d) pkj o’kZ 

 

40 The member of the Standing Committee representing 
employees shall continue to hold the office _____________. 
 
(a) till further orders of the Central Government. 
(b) till further orders of the ESI Corporation. 
(c) until the election of his successor is notified. ANS 
(d) cannot continue after the completion of his term of office. 
        

40 lfefr ds v/;{k-----------------rd vius in ij cus jgsaxs 

 

(a) dsUnzh; ljdkj ds vxys vkns”k gksus rd 

(b) bZ,lvkbZ fuxe ds vxys vkns”k gksus rd 

(c) mlds mRrjkf/kdkjh dk pquko vf/klwfpr fd, tkus rd 

(d) vius dk;Zdky dh lekfIr ds in lnL; ugha jg ldrsA 

                                                           

41 The term of office of a member of the Medical Benefit Council 
representing employees is _______ years. 
 
(a) two 
(b) three 
(c) four ANS 
(d) five     
 

41 deZpkfj;ksa dk izfrfuf/kRo djus okyh fpfdRlk ykHk ifj’kn ds lnL; dk 

dk;Zdky-----------o’kZ gS 
 

(a) nks 

(b) rhu 

(c) pkj 

(d) ikap 

 



42 In which of the following bodies there is one member 
representing Union Territories? 
 
(a) ESI Corporation ANS 
(b) Standing Committee 
(c) Medical Benefit Council 
(d) All of the above have one member representing Union 

Territories.                                                                     
        

42 fuEu esa ls dkSuls fudk; esa la?k jkT; {ks=ksa dk izfrfuf/kRo djus okyk ,d 

lnL; gS\ 

 

(a) bZ,lvkbZ fuxe 

(b) LFkk;h lfefr 

(c) fpfdRlk ykHk ifj’kn 

(d) mi;qZDr lHkh esa la?k jkT; {ks=ksa dk izfrfuf/kRo djus okyk ,d lnL; 

gSA 

                                                           

43 The tenure of office of the Director General shall not exceed 
_______ years. 
 
(a) three 
(b) four 
(c) five ANS 
(d) six        
 

43 egkfuns”kd dk dk;Zdky------------------o’kksZa ls c<+dj ugha gksxk 

 

(a) rhu 

(b) pkj 

(c) ikap 

(d) N% 

 

44 An appeal under Section 45 AA can be preferred by the 
employer after depositing ______ of the contribution so ordered 
or the contribution as per his own calculation, whichever is 
higher. 
 
(a) 10% 
(b) 20% 
(c) 25% ANS 
(d) 50%         
 

44 fu;ksDrk }kjk [kaM 45,, ds v/khu fn, x, vkns”k ds vuqlkj vFkok Lo;a 

mldh x.kuk ds vuqlkj] buesa ls tks Hkh vf/kd gks---------------va”knku 

tek djkds vihy dh tk ldrh gS 

 

(a) 10% 

(b) 20% 
(c) 25% 

(d) 50%                                                 

 

45 The exemption from the operation of ESI Act can be granted for 
a period not exceeding _________ at a time. 
 
(a) six months 
(b) nine months 
(c) one year ANS 
(d) two years    
 

45 bZ,lvkbZ vf/kfu;e ds izpkyu ls ,d le; esa vf/kd ls vf/kd-----------

------vof/k ds fy, NwV nh tk ldrh gS 

 

(a) N% eghus 

(b) ukS eghus 

(c) ,d o’kZ 

(d) nks o’kZ 

 

46 The quorum required to transact business in the already 
adjourned meeting of the Regional Board is _______. 
 
(a) 1/3 
(b) 1/4 
(c) 1/2 
(d) No minimum quorum is required. ANS 
 

46 {ks=h; cksMZ dh igys ls LFkfxr cSBd esa dk;Z lapkyu ds fy, visf{kr 

x.kiwfrZ----------------gS 

 

(a) 1/3 
(b) 1/4 
(c) 1/2 
(d) fdlh U;wure x.kiwfrZ dh t:jr ugha gSA 

 

47 Interest chargeable on contribution due, but not paid is @ 
_________. 
 
(a) 12% per month 
(b) 15% per month 
(c) 12% per annum ANS 
(d) 15% per annum    
 

47 ns; fdarq vnk ugha fd, x, va”knku ij izHkk;Z C;kt dh nj--------------gS 

 

(a) 12% izfr ekg 

(b) 15% izfr ekg 

(c) 12% izfr o’kZ 

(d) 15% izfr o’kZ 
 

48 The claim for funeral expenses falls due on ____________. 
 
(a) the date of death of the insured person. ANS 
(b) The date on which funeral takes place. 
(c) The date on which the claim is made. 
(d) Any of the above.   
 

48 vUR;sf’V ds [kpZ dk nkok-------------------ij nkrO; gksrk gS 

 

(a) chekd`r O;fDr dh e`R;q dh rkjh[k 

(b) ftl rkjh[k dks vUR;sf’V dh xbZ 

(c) ftl rkjh[k dks nkok fd;k x;k 

(d) mi;qZDr esa ls dksbZ ugha                                    

 

49 The claim for Dependant’s Benefit is to be submitted within 
_____ days of the issue of notice. 
 
(a) 10 
(b) 20 
(c) 30 ANS 
(d) 40   
 

49 vkfJr ds ykHk laca/kh nkok uksfVl tkjh fd, tkus ds-----------------fnuksa 

ds Hkhrj izLrqr fd;k tkuk pkfg, 

 

(a) 10 

(b) 20 

(c) 30 

(d) 40                                                   

 



 
50 Claim for Temporary Disablement Benefit is to be submitted in 

__________. 
 
(a) Form 8 
(b) Form 9 ANS 
(c) Form 10 
(d) Form 11   
 

50 vLFkk;h vaxgkfu ykHk dk nkok-------------------esa fd;k tkuk gksrk gS 

 

(a) QkeZ 8 

(b) QkeZ 9 

(c) QkeZ 10 

(d) QkeZ 11                                               

 

51 CCS (Leave) Rules 1972 applied to ___________. 
 
(a) The posts in connection with the affairs of the Union. ANS 
(b) Railway servants. 
(c) Members of the All India Services 
(d) All of the above.  
 

51 lhlh,l ¼NqV~Vh½ fu;ekoyh] 1972 ds ekeys esa ykxw gksrh gS 

 

(a) la?k ds dk;ksZa ls lac) in 

(b) jsyos deZpkjh 

(c) vf[ky Hkkjrh; lsokvksa ds lnL; 

(d) mi;qZDr lHkh                                          

 

52 Which of the following statement is correct? 
 
(b) When the exigencies of public service so require leave of 

any kind may be refused. 
(c) When the exigencies of public service so require leave of 
 any kind may be revoked. 
(d) Government Servants should be encouraged to take leave 
 regularly. 
(e) All are correct. ANS 
 

52 fuEu esa ls dkSulk dFku lR; gS\ 

 

(a) tc ljdkjh lsokvksa dh vR;ko”;drkvksa dh n`f’V ls t:jh gks] 

fdlh Hkh izdkj dh NqV~Vh euk dh tk ldrh gS 

(b) tc ljdkjh lsokvksa dh vR;ko”;drkvksa dh n`f’V ls t:jh gks 

fdlh Hkh izdkj dh NqV~Vh jn~n dh tk ldrh gS 

(c) ljdkjh lsodksa dks fu;fer :i ls NqV~Vh ysus ds fy, izksRlkfgr 

fd;k tkuk pkfg, 

(d) lHkh lgh gSaA 

 

53 Leave should not ordinarily be denied during ______________ 
of service. 
 
(a) first year 
(b) first two years 
(c) last ten years ANS 
(d) last five years 
 

53 NqV~Vh vkerkSj ij lsok ds----------------ds nkSjku euk ugha dh tkuh 

pkfg, 

 

(a) igyk o’kZ 

(b) igys nks o’kZ 

(c) vafre nl o’kZ 

(d) vafre ikap o’kZ 

 

54 Which of the following is not a recognized leave? 
 
(a) Leave Not Due. 
(b) Extra Ordinary Leave 
(c) Half Pay Leave 
(d) Casual Leave ANS 
 

54 fuEu esa ls dkSu ,d ekU; NqV~Vh ugha gS\ 

 

(a) vtZu”kks/; NqV~Vh 

(b) vlk/kkj.k NqV~Vh 

(c) v)Zosru NqV~Vh 

(d) vkdfLed NqV~Vh 

 

55 Which of the following is not correct? 
 
(a) The order sanctioning leave shall indicate the balance of 

Earned Leave / Half Pay Leave at the credit of the 
Government servant. 

(b) Leave may be sanctioned provisionally incase exact leave 
admissibility is not available. 

(c) No Government servant shall be granted leave of any kind 
for a continuous period exceeding five years. 

(d) All are correct. ANS 
 

55 fuEu esa ls dkSulk dFku lR; ugha gS\ 

 

(a) NqV~Vh eatwj djus okyk vkns”k ljdkjh lsod ds [kkrs esa tek ckdh 

vftZr NqV~Vh@v)Zosru dk mYys[k djsxk 

(b) ;fn NqV~Vh dh okLrfod Lohdk;Zrk Kkr ugha gS rks NqV~Vh vuafre 

:i ls eatwj dh tk ldrh gS 

(c) fdlh Hkh ljdkjh dkfeZd dks yxkrkj ikap o’kZ ls vf/kd dh vof/k 

ds fy, fdlh Hkh izdkj dh NqV~Vh eatwj ugha dh tk ldrh 

(d) lHkh lgh gSA                                     

 

56 Which of the following is incorrect? 
 
Leave Not Due is granted subject to the following conditions:- 
 
(a) The authority competent to grant leave is satisfied that 

there is reasonable prospect of the Government servant 
returning to duty on expiry of the leave. 

(b) Leave Not Due shall be limited to the Earned Leave he is 
likely to earn thereafter. ANS 

(c) Leave Not Due shall be debited against the Half Pay 
Leave the Government servant may earn subsequently. 

(d) All are correct.   
 

56 fuEu esa ls dkSulk dFku xyr gS\ 

 

vtZu”kks/; NqV~Vh fuEu “krksZa ds v/;/khu eatwj dh tkrh gS% 

 

(a) NqV~Vh eatwj djus ds fy, l{ke vf/kdkjh dks bl ckr dk fo”okl 

gS fd NqV~Vh dh lekfIr ds ckn ljdkjh lsod ds M~;wVh ij ykSVus dh 

leqfpr laHkkouk gS 

(b) vtZu”kks/; NqV~Vh mruh vftZr NqV~Vh rd lhfer gksxh ftruh 

ljdkjh lsod }kjk blds ckn vftZr dj ysus dh laHkkouk gS 

(c) vtZu”kks/; NqV~Vh ljdkjh lsod }kjk ckn esa vftZr dh tkus okyh 

v)Zosru NqV~Vh ds ukes Mky nh tk,xh 

(d) lHkh lgh gSA                                           

 



 
57 To avail encashment of Earned Leave for 10 days with Leave 

Travel Concession, there should be balance of at leave ______ 
days of Earned Leave after taking into account the period of 
encashment as well as leave. 
 
(a) 20 
(b) 30 ANS 
(c) 10 
(d) 40 
 

57 NqV~Vh ;k=k lfgr 10 fnu dh vftZr NqV~Vh ds udnhdj.k dk ykHk mBkus 

ds fy, udnhdj.k dh vof/k vkSj lkFk gh NqV~Vh dh vof/k dk /;ku djrs 

gq,------------fnu dh vftZr NqV~Vh “ks’k gksuh pkfg, 

 

(a) 20 

(b) 30 

(c) 10 

(d) 40                                                    
 

58 Advance in lieu of leave salary is allowed if leave is to be 
availed for atleast ______ days. 
 
(a) 21 
(b) 30 ANS 
(c) 45 
(d) 60  
 

58 NqV~Vh osru ds ,ot esa vfxze iznku fd;k tkrk gS ;fn de ls de--------

----fnu dh NqV~Vh yh tkuh gks 

 

(a) 21 

(b) 30 

(c) 45 

(d) 60                                                   

 

59 Which of the following is not correct in respect of Child 
Adoption Leave? 
 
(a) Admissible on valid adoption of a child below the age of 

two years. ANS 
(b) Can be combined with other kind of leave. 
(c) Female government servants are entitled on valid 

adoption of a child. 
(d) All are correct.   
 

59 cky nRrd&xzg.k NqV~Vh ds laca/k esa fuEu esa ls dkSulk dFku lgh ugha gS\ 

 

(a) nks o’kZ ls de vk;q ds cPps ds oS/k nRrd&xzg.k dh fLFkfr esa 

Lohdk;Z 

(b) vU; NqV~Vh ds lkFk tksM+k tk ldrk gS 

(c) efgyk ljdkjh lsod cPps dk oS/k nRrd&xzg.k djus ij gdnkj gS 

(d) lHkh lgh gSA            

 

60 Which of the following is not correct in respect of Paternity Leave? 
 
(a) Admissible with less two surviving children. 
(b) Admissible on adoption of a child 
(c) To be availed within six months from the date of delivery. 
(d) All are correct. ANS 
 

60 iSr`Ro NqV~Vh ds laca/k esa fuEu esa ls dkSulk dFku lgh ugha gS\ 

 

(a) nks ls de thfor cPpksa ds jgrs Lohdk;Z 

(b) cPps ds nRrd xzg.k ij Lohdk;Z 

(c) izlo ds N% eghus ds Hkhrj yh tkuh gksrh gS 

(d) lHkh lgh gSA                                       
 

61 Which of the following is not correct in respect of Child Care 
Leave? 
 
(a) In case of disabled children, Child Care Leave is 

admissible upto the age of 22 years. 
(b) Admissible upto 740 days during the entire service. ANS 
(c) May be granted upto three spells in a year. 
(d) All are correct.   
 

61 cky ns[kHkky NqV~Vh ds laca/k esa fuEu esa ls dkSulk dFku lgh ugha gS\ 

 

(a) fu%”kDr cPps ds ekeys esa cky&ns[kHkky NqV~Vh 22 o’kZ dh vk;q rd 

 Lohdk;Z gS 

(b) iwjh lsok ds nkSjku 740 fnu rd Lohdk;Z 

(c) ,d o’kZ esa rhu ckj rd eatwj dh tk ldrh gS 

(d) lHkh lgh gSA                                   

 

62 Disabled employees are entitled for casual leave for _____ 
days in a year. 
 
(a) 10 
(b) 12 ANS 
(c) 14 
(d) 15    
 

62 fu%”kDr deZpkjh o’kZ esa----------------------fnu dh vkdfLed NqV~Vh ds 

gdnkj gSa 
 

(a) 10 

(b) 12 

(c) 14 

(d) 15                                                    

 

63 Which of the following is correct? 
 
(a) A Scheduled Caste candidate can be appointed against 

Scheduled Caste vacancy only. 
(b) A person belonging to Scheduled Caste category shall not 

be entitled to the benefit of reservation if he comes under 
the creamy layer. 

(c) A person appointed against Scheduled Caste vacancy 
shall not be entitled to benefit of reservation under 
Scheduled Caste category incase his caste has been 
descheduled after his initial appointment. ANS 

(d) All are correct.       
 

63 fuEu esa ls dkSulk dFku lgh gS\ 

 

(a) vuqlwfpr tkfr dk vH;FkhZ dsoy vuqlwfpr tkfr dh fjfDr ij gh 

 HkrhZ fd;k tk ldrk gS 

(b) vuqlwfpr tkfr dh Js.kh dk vH;FkhZ ml fLFkfr esa vkj{k.k dk 

 gdnkj ugha gksxk ;fn og uoksUur oxZ ds v/khu vkrk gS 

(c) vuqlwfpr tkfr dh fjfDr ij HkrhZ fd;k x;k O;fDr vuqlwfpr tkfr 

 dh Js.kh ds v/khu vkj{k.k dk gdnkj ugha gksxkA ;fn mldh 

 izkjafHkd fu;qfDr ds le; mldh tkfr vuqlwfpr tkfr ls ckgj dj 

 nh tkrh gS 

(d) lHkh lgh gSaA 

 

64 Inspection of rosters by Liaison Officer for SC/ST is done 
_____________. 
 
(a) Quarterly 
(b) Half Yearly 
(c) Annually ANS 
(d) Bi monthly  
 

64 laidZ vf/kdkfj;ksa }kjk vuqlwfpr tkfr@vuqlwfpr tutkfr ds jksLVjksa dh 

tkap----------------vk/kkj ij dh tkrh gS 
 

(a) frekgh 

(b) Nekgh 

(c) okf’kZd 

(d) f}ekfld 

 



65 The concept of ‘Own Merit / Merit’ in promotion is not applicable 
to _____. 
 
(a) S.C. 
(b) S.T. 
(c) O.B.C. ANS 
(d) Applicable to all of the above.  
 

65 inksUufr ds ekeys esa ^viuh ;ksX;rk@;ksX;rk* dh vo/kkj.kk fuEu ds ekeys 

esa ykxw ugha gksrh 

(a) vuqlwfpr tkfr 

(b) vuqlwfpr tutkfr 

(c) vU; fiNM+s oxZ 

(d) mi;qZDr lHkh ds ekeys eas ykxw 

 

66 On resignation from service, a Government servant will be 
entitled to _____________. 
 
(a) Pension 
(b) Gratuity 
(c) Encashment of Earned Leave ANS 
(d) Not entitled to any of the above.  

66 lsok ls R;kxi= nsus ij ljdkjh lsod fuEu dk gdnkj gksxk 

 

(a) isa”ku 

(b) minku 

(c) vftZr NqV~Vh dk udnhdj.k 

(d) mi;qZDr esa ls fdlh dk Hkh gdnkj ugha 

67 Which of the following is not a condition to seek voluntary 
retirement from Group ‘B’ post? 
 
(a) A Government servant should give a notice of not less 

than three months. 
(b) A Government servant should have attained the age of 

fifty years. 
(c) A Government servant should have entered the 

Government service before attained the age of 35 years. 
(d) None of the above. ANS 
 

67 lewg ^[k* ds in ls LoSfPNd lsokfuo`fRr ysus ds fy, fuEu esa ls dkSu ,d 

“krZ ugha gS\ 

 

(a) ljdkjh lsod dks de ls de rhu eghus dk uksfVl nsuk pkfg,A 

(b) ljdkjh lsod dh vk;q ipkl o’kZ gks xbZ gksA 

(c) ljdkjh lsod us 35 o’kZ dh vk;q dk gksus ls iwoZ ljdkjh lsok 

izkjaHk dj nh gksA 

(d) mi;qZDr esa ls dksbZ ugha 

 

68 Leave Travel Concession is not admissible during _________. 
 
(a) Casual Leave 
(b) Maternity Leave. 
(c) Child Care Leave ANS 
(d) Admissible during any of the above.  
 

68 NqV~Vh ;k=k fj;k;r ds nkSjku Lohdk;Z ugha gksrh 

 

(a) vkdfLed NqV~Vh 

(b) izlwfr NqV~Vh 

(c) cky&ns[kHkky NqV~Vh 

(d) mi;qZDr ea ls fdlh ds Hkh nkSjku 

 

69 A fresh recruit to Central Government is allowed LTC to any 
place in India on ____ occasions in the first two block of four 
years. 
 
(a) 2 ANS 
(b) 4 
(c) 6 
(d) 8       

69 dsUnzh; ljdkj esa ubZ HkrhZ fd, x, deZpkjh dks pkj o’kksZa ds igys nks 

Cykdksa esa--------------ekSdksa ij Hkkjr esa fdlh Hkh LFkku ij tkus ds fy, 

,yVhlh fn;k tkrk gS 

 

(a) 2 

(b) 4 

(c) 6 

(d) 8                               

70 Sealed cover cases of Departmental Promotion Committee are 
to be reviewed every ______ months. 
 
(a) 3 
(b) 4 
(c) 5 
(d) 6 ANS 
 

70 foHkkxh; inksUufr lfefr ds eksgjcan fyQkQksa ds ekeyksa dh gj-------------

-eghus esa leh{kk dh tkrh gS 

 

(a) 3 

(b) 4 

(c) 5 

(d) 6                                                     

 

71 The Principal Bench of the Central Administrative Tribunal is at 
____. 
 
(a) Bangalore 
(b) Chennai 
(c) Mumbai 
(d) New Delhi ANS 
 

71 dsUnzh; iz”kklfud vf/kdj.k dh iz/kku ihB----------------esa gS 

 

(a) caxykSj 

(b) psUubZ 

(c) eqacbZ 

(d) ubZ fnYyh 
 

72 The joining time admissible on transfer to join a new post in 
another station which does not involve change of residence is 
_________. 
 
(a) 1 day ANS 
(b) 2 days 
(c) 3 days 
(d) No joining time is admissible.  
 

72 fdlh ,sls vU; LFkku ij u, in ij LFkkukarj.k gks tkus ij tgka fuokl 

LFkku ugha cnyuk iM+rk] dk;ZHkkj laHkkyus dk vuqeR; le;---------------

-----gS 

 

(a) 1 fnu 

(b) 2 fnu 

(c) 3 fnu 

(d) dk;ZHkkj xzg.k djus ds fy, dksbZ Hkh le; vuqeR; ugha gSA 
 

73 The maximum rate of HRA is admissible to which category of 
cities / towns. 
 
(a) A-1 
(b) X ANS 
(c) Y 
(d) Z  
 

73 ,pvkj, dh mPpre nj “kgjksa@dLcksa dh dkSulh Js.kh ds fy, vuqeR; gS\ 

 

(a) ,-1 
(b) ,Dl 

(c) okbZ 

(d) tsM                                                   

 



74 If a person has joined the Government Service on 02nd March 
2012, he will get the credit of Earned Leave of ____ days upto 
30th June 2012. 
 
(a) 7 
(b) 8 ANS 
(c) 10 
(d) 15  
 

74 ;fn fdlh O;fDr us 2 ekpZ] 2012 dks ljdkjh lsok “kq: dh gS rks 30 

twu] 2012 rd mlds [kkrs esa-----------------fnu dk vftZr vodk”k 

tek gksxk 

 

(a) 7 

(b) 8 

(c) 10 

(d) 15                                                    

 

75 Which of the following statements with regard to Leave Travel 
Concession is not correct? 
 
Leave Travel Concession is not admissible to __________. 
 
(a) Government servants whose spouses are employed in 

Railways. 
(b) Government servants whose spouses are employed in 

National Airlines. 
(c) Government servant under suspension and his family. 

ANS 
(d) All are correct. 
        

75 NqV~Vh ;k=k fj;k;r ds laca/k esa fuEu esa ls dkSulk dFku lR; ugha gS\ 

 

NqV~Vh ;k=k fj;k;r-------------dks Lohdk;Z gS 

 

(a) ,sls ljdkjh lsod ftuds thoulkFkh jsyos esa ukSdjh djrs gSa 

(b) ,sls ljdkjh lsod ftuds thoulkFkh jk’Vªh; ,;jykbal esa ukSdjh 

djrs gSa 

(c) ,sls ljdkjh lsod tks fuyacuk/khu gSa vkSj mudk ifjokj 

(d) lHkh lgh gSaA 

                                                           

76 The maximum age limit for availing Children Education 
Assistance in respect of a child is _______. 
 
(a) 18 years 
(b) 17 years 
(c) 20 year ANS 
(d) There is no maximum age limit. 
 

76 cPps ds laca/k esa cky f”k{kk lgk;rk dk ykHk mBkus dh vf/kdre 

vk;qlhek--------------gS 

 

(a) 18 o’kZ 

(b) 17 o’kZ 

(c) 20 o’kZ 

(d) dksbZ vf/kdre vk;q lhek ugha gSA 

 

77 Which of the following statements is / are incorrect in respect of 
Children Education Assistance? 
 
I Not admissible for the period of absence from school 
 without proper leave. 
II Not admissible for children who are in receipt of 
 scholarship. 
III Admissible while the government servant is on leave. 
IV Not admissible during the period which is treated as dies 
 non. 
 
(a) I & II 
(b) II ANS 
(c) III & IV 
(d) IV   
 

77 cky f”k{kk lgk;rk ds laca/k esa fuEu esa ls dkSulk@dkSuls dFku lgh ugha 

gS@gSa\ 

 

I leqfpr NqV~Vh ds fcuk Ldwy ls xSjgkftjh dh vof/k ds fy, 

 Lohdk;Z ugha 

II Nk=o`fRrizkIr cPpksa ds ekeys esa Lohdk;Z ugha 

III ljdkjh lsod ds NqV~Vh ij jgus ds nkSjku Lohdk;Z 

IV ftl vof/k dks vdk;Z fnol le>k x;k gS mlds fy, Lohdk;Z ugha 

 

(a) I rFkk II 
(b) II 
(c) III rFkk IV 

(d) IV                                                         
 

78 Children Education Assistance is not admissible in case of 
__________. 
 
(a) Dismissal of government servant during the academic year. 
(c) Death of government servant during the academic year. 
(b) Retirement of government servant during the academic year. 
(d) Admissible in all the above three situations. ANS 
   

78 cky f”k{kk HkRrk-----------------fLFkfr esa Lohdk;Z ugha gksrk 

 

(a) “kS{kf.kd o’kZ ds nkSjku ljdkjh lsod dh c[kkZLrxh 

(b) “kS{kf.kd o’kZ ds nkSjku ljdkjh lsod dh e`R;q 

(c) “kS{kf.kd o’kZ ds nkSjku ljdkjh lsod dh lsokfuo`fRr 

(d) mi;qZDr lHkh rhuksa fLFkfr;ksa esa Lohdk;ZA 

                                                           

79 Which of the following activities is not considered objectionable 
under the CCS (Conduct) Rules? 
 
(a) To be a part of any organization taking part in politics. 
(b) Acting as an election agent of a candidate at election. 
(c) Occasional attendance in political meetings. ANS 
(d) All the above activities are objectionable. 
       

79 fuEu esa ls dkSu ls fØ;kdyki dks lhlh,l ¼vkpj.k½ fu;ekoyh ds v/khu 

vkifRrtud ugha le>k tkrk\ 

 

(a) jktuhfr esa fgLlk ysus okys fdlh laxBu dk lnL; gksxk 

(b) pquko ds nkSjku fdlh mEehnokj ds pquko ,tsaV ds :i esa dke djuk 

(c) jktuSfrd cSBdksa esa dHkh&dHkkj Hkkx ysuk 

(d) mi;qZDr lHkh fØ;kdyki vkifRrtud gSaA 

                                                           

80 Any transaction in movable property by the Government 
Servant should be reported to the prescribed authority if the 
value of such property exceeds _____ months’ basic pay of the 
Government Servant. 
 
(a) 1 
(b) 2 ANS 
(c) 3 
(d) 4    
 

80 ljdkjh lsod }kjk py laifRr ds laca/k esa fdlh Hkh ysu&nsu ds ckjs esa 

fu/kkZfjr vf/kdkjh dks lwfpr fd;k tkuk pkfg, ;fn ,slh laifRr dk ewY; 

ljdkjh lsod ds--------------eghus ds ewy osru ls c<+dj gks 

 

(a) 1 

(b) 2 

(c) 3 

(d) 4                                                     



 

81 Insurance policies are considered as movable property under 
the CCS (Conduct) Rules if the annual premium of the policy 
exceeds ______ months’ basic pay of the Government servant. 
 
(a) 2 ANS 
(b) 3 
(c) 4 
(d) 6  
 

81 chek ikfyfl;ksa dks lhlh,l ¼vkpj.k½ fu;ekoyh ds v/khu py laifRr 

le>k tkrk gS c”krsZ fd ikfylh dh okf’kZd fdLr ljdkjh lsod ds---------

------eghus ds ewy osru ls c<+dj gks 

 

(a) 2 

(b) 3 

(c) 4 

(d) 6                                                     

 

82 If the prescribed authority does not communicate its sanction 
within ___ days of the receipt of the request seeking 
permission for transaction in immovable property with foreign 
organization, the official is free to assume grant of sanction. 
 
(a) 30 
(b) 45 
(c) 60 ANS 
(d) 90  
 

82 ;fn fdlh fons”kh laxBu ds lkFk vpy laifRr ds ysunsu ds fy, vuqefr 

ekaxus laca/kh vuqjks/k dh izkfIr ds---------------fnuksa ds Hkhrj fu/kkZfjr 

vf/kdkjh viuh eatwjh lwfpr ugha djrk gS] rks ljdkjh lsod dks eatwjh nh 

xbZ eku ysus dh NwV gS 

 

(a) 30 

(b) 45 

(c) 60 

(d) 90                                                   

 

83 Customary gifts exceeding the value of Rs. _______ in case of 
Group ‘B’ cadre received from personal friends needs to be 
reported to the Government. 
 
(a) 4000 ANS 
(b) 7000 
(c) 10000 
(d) 12000   
 

83 lewg ^[k* laoxZ ds vf/kdkjh ds ekeys esa oS;fDrd fe=ksa ls izkIr #--------

--------ds ewY; ls vf/kd ewY; ds fjokth migkjksa ds laca/k esa ljdkj dks 

lwfpr fd;k tkuk pkfg, 

 

(a) 4000 

(b) 7000 

(c) 10000 

(d) 12000                                                

 

84 Beyond a period of leave of 180 days, House Rent Allowance 
___________. 
 
(a) is not admissible. 
(b) is admissible as before the period of 180 days. 
(c) can be claimed by furnishing a prescribed certificate. ANS 
(d) can be claimed by furnishing the proof of actual place of 

residence of the government servant. 
  

84 180 fnu dh NqV~Vh ds ckn edku fdjk;k HkRrk 

 

(a) Lohdk;Z ugha gS 

(b) 180 fnu dh vof/k ls iwoZ dh Hkkafr Lohdk;Z gS 

(c) fu/kkZfjr izek.k&i= izLrqr djds mldk nkok fd;k tk ldrk gS 

(d) ljdkjh lsod ds vkokl ds okLrfod LFkku dk izek.k izLrqr djus 

ij mldk nkok fd;k tk ldrk gSA 

                                                           

85 If a person is due to retire on 30 November 2012, he will get 
the credit of Earned Leave of ____ days on 01st July 2012. 
 
(a) 12 
(b) 13 ANS 
(c) 15 
(d) 14   
 

85 ;fn fdlh O;fDr dks 30 uoacj] 2012 dks lsokfuo`Rr gksuk gS 1 tqykbZ] 

2012 dks mlds [kkrs esa----------------fnu dk vftZr vodk”k tek gksxk 

 

(a) 12 

(b) 13 

(c) 15 

(d) 14                                                    

 

86 Commuted Leave cannot be taken without medical certificate in 
case 
 
(a) the leave is utilized for an approved course of study 

certified in public interest. 
(b) the leave is in continuation of maternity leave. 
(c) the female Government servant adopts a child. 
(d) None of the above. ANS 
 

86 ifjofrZr NqV~Vh MkDVjh izek.k&i= ds fcuk ugha yh tk ldrh ;fn 

 

(a) NqV~Vh dk iz;ksx tufgr esa izekf.kr v/;;u ds fdlh vuqeksfnr 

ikB~;Øe ds fy, fd;k tkrk gSA 

(b) NqV~Vh izlwfr NqV~Vh ds Øe esa gSA 

(c) efgyk ljdkjh lsod fdlh cPps dk nRrd&xzg.k djrh gSA 

(d) mi;qZDr esa ls dksbZ ughaA   

 

87 If the Government Servant granted commuted leave quits 
service voluntarily without returning to duty, the commuted 
leave shall be treated as __________. 
 
(a) Earned Leave 
(b) Extraordinary Leave 
(c) Half Pay Leave ANS 
(d) Leave not due   
 

87 ftl ljdkjh lsod dks ifjofrZr NqV~Vh eatwj dh xbZ gS ;fn og M~;wVh ij 

ykSVs fcuk LosPNk ls lsok ls foyx gks tkrk gS rks ifjofrZr NqV~Vh-----------

-------ds :i esa le>h tk,xh 

 

(a) vftZr NqV~Vh 

(b) vlk/kkj.k NqV~Vh 

(c) v)Zosru NqV~Vh 

(d) vtZu”kks/; NqV~Vh 

 



 
88 If a Government Servant granted leave not due resigns from 

service without returning to duty, the resignation will take effect 
from the date __________. 
 
(a) on which such leave had commenced. ANS 
(b) on which the Government Servant submits the 

resignation. 
(c) as decided by the competent authority. 
(d) on which the Government Servant was to join the duty 

after completion of leave. 
       

88 ftl ljdkjh lsod dks vtZu”kks/; NqV~Vh eatwj dh xbZ gS ;fn og M~;wVh ij 

ykSVs fcuk lsok ls R;kxi= ns nsrk gS rks R;kxi=-----------------rkjh[k ls 

izHkkoh gksxk 

 

(a) ftldks ,slh NqV~Vh “kq: gqbZ Fkh 

(b) ftldks ljdkjh lsod R;kxi= nsrk gS 

(c) l{ke izkf/kdkjh }kjk ;Fkkfu/kkZfjr 

(d) ftldks ljdkjh lsod dks NqV~Vh dh lekfIr ij dk;ZHkkj laHkkyuk 

FkkA 

                                                           

89 The amount of Leave Not Due should be limited to ______ the 
Half Pay Leave that the Government Servant is likely to earn 
subsequently. 
 
(a) Half  
(b) Equal to ANS 
(c) Twice 
(d) None of the above.  
 

89 vtZu”kks/; NqV~Vh dh la[;k] ljdkjh lsod }kjk ckn esa ftruh NqV~Vh 

vftZr fd, tkus dh laHkkouk gS mldh@mlds----------------rd lhfer 

j[kh tkuh pkfg, 

 

(a) vk/kh 

(b) cjkcj 

(c) nqxquh 

(d) mi;qZDr esa ls dksbZ ugha                                    

 

90 For temporary officials belonging to Scheduled Caste / 
Scheduled Tribes, Extra Ordinary Leave may be granted 
exceeding _______ for attending the pre-examination training 
course at the centres notified by the Government from time to 
time. 
 
(a) 3 months ANS 
(b) 6 months 
(c) 8 months 
(d) 9 months  
 

90 vuqlwfpr tkfr@vuqlwfpr tutkfr;ksa ds vLFkk;h dkfeZdksa dks ljdkj }kjk 

le;&le; ij lwfpr dsUnzksa esa ijh{kk&iwoZ izf”k{k.k ikB~;Øe esa Hkkx ysus ds 

fy,--------------ls vf/kd dh NqV~Vh eatwj dh tk ldrh gS 

 

(a) 3 eghus 

(b) 6 eghus 

(c) 8 eghus 

(d) 9 eghus 

 

91 A Central Health Service officer who has been granted study 
leave has to execute a bond to serve the Government for a 
period of _______. 
 
(a) 24 months 
(b) 36 months 
(c) 4 years 
(d) 5 years ANS 
 

91 dsUnzh; LokLF; lsok dk ,d vf/kdkjh ftls v/;;u NqV~Vh eatwj dh xbZ gS 

mls-----------eghus rd ljdkj dh lsok djus dk ,d ca/ki= fu’ikfnr 

djuk gksxk 

 

(a) 24 eghus 

(b) 36 eghus 

(c) 4 o’kZ 

(d) 5 o’kZ 

 

92 Which of the following statements with regard to Leave Travel 
Concession is not correct? 
 
Leave Travel Concession is admissible __________. 
 
(a) After completion of probation period. 
(b) Can be availed during child care leave. 
(c) Cannot be availed during paternity leave. 
(d) All are incorrect. ANS 
 

92 NqV~Vh ;k=k fj;k;r ds laca/k esa fuEu esa ls dkSulk dFku lgh ugha gS? 

 

NqV~Vh ;k=k fj;k;r Lohdk;Z gS------------ 

 

(a) ifjoh{kk vof/k iwjh gks tkus ij 

(b) cky&ns[kHkky NqV~Vh ds nkSjku bldk ykHk mBk;k tk ldrk gS 

(c) iSr`Ro NqV~Vh ds nkSjku bldk ykHk ugha mBk;k tk ldrk 

(d) lHkh xyr gSA     

 

93 Fresh recruits to Central Government are allowed Leave Travel 
Concession on _____ occasions to their home town during the 
first two blocks of four years. 
 
(a) 2 
(b) 4 
(c) 6 ANS 
(d) 8        
 

93 dsUnzh; ljdkj esa ubZ HkrhZ okys deZpkfj;ksa dks pkj o’kksZa ds igys nks Cykdksa 

ds nkSjku-----------ekSdksa ij vius x`guxj tkus ds fy, NqV~Vh ;k=k 

fj;k;r dh vuqefr nh tkrh gS 

 

(a) 2 

(b) 4 

(c) 6 

(d) 8                                                     

 

94 Which of the following charges incurred on reservation of rail 
tickets are not reimbursable? 
 
(a) Internet / e-ticketing 
(b) Service Tax 
(c) Telegram Charges ANS 
(d) All of the above are reimbursable. 
 

94 jsy fVdVksa ds vkj{k.k ij fd;k x;k fuEu esa ls dkSulk izHkkj izfriwfrZ;ksX; 

gS\ 

 

(a) baVjusV@bZ&fVdfVax 

(b) lsok dj 

(c) rkj izHkkj 

(d) mi;qZDr lHkh izfriwfrZ;ksX; gSqa 

 



 
95 Verification of services of the Government Servant should be 

completed on completion of 25 years of service or ____ years 
before retirement. 
 
(a) 3 
(b) 5 ANS 
(c) 8 
(d) 10      
 

95 ljdkjh lsod dh lsok dk lsok ds 25 o’kZ iwjs gksus ij vFkok lsokfuo`fRr 

ls------------o’kZ iwoZ lR;kiu djk;k tkuk pkfg, 

 

(a) 3 

(b) 5 

(c) 8 

(d) 10                                                   

 

96 An employee is permitted to apply for an outside post upto 
_____ times in a year. 
 
(a) 3 
(b) 4 ANS 
(c) 5 
(d) 6        

96 deZpkjh dks o’kZ esa---------------ckj foHkkx ls ckgj ds in ds fy, 

vkosnu djus dh vuqefr gksrh gSA 

 

(a) 3 

(b) 4 

(c) 5 

(d) 6                                                     

97 Transport Allowance admissible to a physically handicapped 
employee (who was earlier eligible of conveyance allowance) 
drawing grade pay of Rs.2400 and posted at New Delhi will be 
Rs. ________. 
  
(a) 600 
(b) 800 
(c) 1200 ANS 
(d) 1000        
 

97 2400 dk xzsM osru ikus okys rFkk ubZ fnYyh esa rSukr “kkjhfjd n`f’V ls 

fu%”kDr deZpkjh dks ¼tks iwoZ esa lokjh HkRrk ikus dk ik= Fkk½ #-----------

-----------dk ifjogu HkRrk Lohdk;Z gSA 

  

(a) 600 

(b) 800 

(c) 1200 

(d) 1000                                                

 

98 Child Care Allowance is payable to ___________. 
 
(a) Male Government servants with disabilities. 
(b) Female Government servants with disabilities. ANS 
(c) Any government servant whose child is physically 

challenged. 
(d) Husband and Wife when both are Government servants 

and physically disable. 
  

98 cky&ns[kHkky HkRrk-------------------dks ns; gS 

 

(a) fu%”kDrrkvksa ls xzLr iq#’k ljdkjh lsod 

(b) fu%”kDrrkvksa ls xzLr efgyk ljdkjh lsod 

(c) dksbZ Hkh ,slk ljdkjh lsod ftldk cPpk “kkjhfjd ǹf’V ls fu%”kDr gS 

(d) ifr vkSj iRuh nksuksa dks tcfd nksuksa ljdkjh lsod gS vkSj “kkjhfjd 

n`f’V ls fu%”kDr gSA 

                                                           

99 The amount received by performing which of the following 
activity may be termed as ‘Fee’? 
 
(a) Participation in the sports activity as amateur. 
(b) Income from cultural activity. 
(c) Income by rendering legal advice ANS 
(d) All of the above. 
                                                            

99 fuEu esa ls dkSulk fØ;kdyki fu’ikfnr djus ij izkIr gksus okyh jkf”k dks 

^Qh* dgk tk ldrk gS\ 

 

(a) vifjiDo ds :i esa [ksydwn fØ;kdyki esa Hkkx ysuk 

(b) lkaLd`frd fØ;kdyki ls vk; 

(c) dkuwuh lykg nsdj izkIr vk; 

(d) mi;qZDr lHkh 

                                                           

100 Reimbursement of tuition fee is not admissible in the case of  
 
I Classes prior to Class 1st. 
II Classes after Class 10th. 
III For studying in two years diploma course in Polytechnic 

after passing Class 10th. 
 
(a) I only 
(b) II only 
(c) III only 
(d) Admissible for all the three above. ANS 
 

100 f”k{k.k “kqYd dh izfriwfrZ fuEu ekeys esa Lohdk;Z ugha gS 

 

I d{kk 1 ls igys dh d{kk,a 

II 10oha ls ckn dh d{kk,a 

III 10oha d{kk ikl djds ikfyVsfDud esa nks&o’khZ; fMIyksek ikB~;Øe esa 

i<+uk 

 

(a) dsoy I 
(b) dsoy II  
(c) dsoy III  
(d) mi;qZDr rhuksa ds fy, Lohdk;Z 

 


